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Section - A (Reading Comprehension) 

Q. No.               Expected Answers / Value Points Distribution 
   of Marks 
1. 

1+1+1+1+1 = 5 

  



 /
a) þ™¤y‰þ îû„þ› ö“þöì“þy þ™y“þyîû îû¢
b) xyöì†îû !”öì̃ îû !“þ˜…y˜y …îöìîûîû „þy†‹– ~„þ…y˜y þ™!O„þy– vþyöìëû!îû xyîû „þœ›Ð
c) ~†yöìîûyÝþy ö”çëûyœ‡!vþüöì“þ
d) ‹!›”y!îû !„þöì̃
e) xþ™‰þëû

2. 1 ˜‚ ²ÌöìÙÀîû x˜%îû*þ™ 1+1+1+1+1 = 5 

 a) ›öì£w˜yí ”_
b) ¦)þöìþ™w˜yí ç ›öì£w˜yí
c) 1880 ¢yœ
d) x•Äydîy”#– ¢y•%¢Déôé²Ìëûy¢#Ð
e) xíÅ î%!Gþöìëû îy„þÄ †àþ˜ „þîûöìœ 1 ˜Áºîû þ™yöìîÐ

 



Section - B (Grammar) 

3.  3+2 = 5 

  3



1 > 

0.5

4.  3+2 = 5 

 a) ë›„þ b)  x˜%²Ìy¢ c)  vþzþ™›y

  3 1.5 

0.5 

(a), (b), (c) ç (d) ~îû ›•Ä öíöì„þ öëéôéö„þyöì̃ y ~„þ!Ýþîû vþz_îû !”öì“þ £öìîÐ

 vþzöìÍÔ… 3  Ð

  1.5 2

vþz_îû ¢‚öì„þ“þ ƒ
a) öÙÕ¡ì  

 b) x˜%²Ìy¢ 

 c) ë›„þ
d) vþzþ™›y

5. / ö„þyöì̃ yþ !“þ˜!Ýþ 2×3 = 6

 2 

 1 

 òö¢ vþzœ%îöì̃  ›%_«y Šévþüyëûó 2 

 1 

 1.5 



Section - C 
        (Composition) 

6.  1+2+2=5 

a) 1

˜Áºîû ¢yšþöìœÄîû Ÿ#öì¡ìÅ ö›!îû / ö„þyöì̃ y !„þŠ%éöì“þ£z „þ› ˜ëû– 
ö›!îû „þ›

b) !îÙ» î!:‚ ‰þÄy!Á™ëû̃ !Ÿöìþ™ ¡ìÛþ ö¢y˜y‹ëû# ö›!îû „þöì›îû ¢yšþöìœÄ vþz‰Š́é!¢“þ ö”ŸÐ ˜!‹îû 
†vþüyîû !”˜ öíöì„þ£z !“þ!˜ x!œ!Á™öì: ö”Ÿöì„þ ö¢y˜y vþzþ™£yîû ö”çëûyîû œöìÇþÄ “þ#îÊ 
²Ìlßþ!“þîû þ™öìíÐ

c) ¢îû„þy!îû ¦þyöìî ö›!îû !îöìÙ»îû ö¢îûy î:yîû ²Ì›y!’“þ £çëûyëû !“þ!˜ x¢y•yîû’Ð “¤þyöì„þ !îÙ» 
î!:‚ ‰þÄy!Á™ëû̃ !Ÿöìþ™ ¡ìÛþ ö¢y˜y ö‹“þyîû ‹˜Ä x!¦þ˜¨˜ ‹y!˜öìëûöìŠé˜Ð !“þ!˜£z ˜“%þ˜ 
²Ì‹öì§Ãîû x˜%öì²Ìîû’yÐ 

7. !œ…˜ îõ%þöì„þ xíîy îyîyöì„þ 2+3 = 5 

  3

 

þ™öìeîû öŸöì¡ì ßþº“þsþf¦þyöìî ²Ìyþ™öì„þîû ˜y›–  !àþ„þy˜y íy„þöìœ þ™%öìîûy 2  
ö”çëûy £öìîÐ

 3

 2

 3

Section - D (Literature) 

8. “%þöìœ 1+1+3 = 5

xy›yëû !„þŠ%é ~„þÝþy „þîûöì“þ£z £öìîÐ
vþz_îû ¢‚öì„þ“þ ƒ
a) ›,“%þÄOëû x˜y£yöìîû ›,“%þÄ öîûy• „þîûyîû !î¡ìöìëû !˜îû§¬ ›y˜%öì¡ìîû ¢y£yëÄ „þöìîû“þ ö‰þöìëûöìŠéÐ 1 

˜ÁºîûÐ

b) ~„þöìîœy …yçëûy öŠéöìvþü !”öìëû– !˜öì‹îûç “þyîû ßþf#îû ~„þöìîœyîû …yîyîû !î!œöìëû ö”ëûÐ 1 

˜ÁºîûÐ



c) ›y¢ ›y£zöì̃ îû  Ýþy„þy !îû!œšþ šþyöìuþ ”y˜ š%þÝþþ™y“þîy¢# x˜y£yîû#öì”îû ¢öìD ‡%öìîû öîvþüyöì̃ y 
éôé¢‚¢yîû ç ¢hsþyöì̃ îû ²Ì!“þ vþz”y¢#˜Ð ö”£ öŠé¤vþüy ˜Äy„þvþüyëû xyî,“þ •%öìœy ›!œ˜ 
š%þÝþþ™yöì“þ „þyvþüy„þy!vþü ›yîûy›y!îû „þöìîû œDyîû…y˜yëû !…‰%þ!vþü …yçëûy éôôôé ¢îÅöìŸöì¡ì ›y˜!¢„þ 
!î„þyîû@ùÌßþi £öìëû †vþüyÐ [=!Šéöìëû !œ…öìœ 2 öíöì„þ 3 ˜Áºîû] 

„þ“þÇþ’ ö¢ ›yîû›%…# .......................ö„þ ‹yöì̃ Ð

vþz_îû ¢‚öì„þ“þ ƒ

a) ÷¢ëû” ›%hßþyšþy !¢îûy‹Ð ¦þyîû“þî¡ìÅ (½ + ½ = 1) ˜ÁºîûÐ
b) xy£zöì̃ îû îûÇþ„þ ˜#œ vþz!”Åþ™îûy ö‰þï!„þ”yîûÐ 1 ˜ÁºîûÐ 

c) !£¨% ç ›%¢œ›y˜ ¢Á±”yöìëûîû þ™yîûßþ™!îû„þ •›Å#ëû !îöìîûy•öìîy•Ð ~„þ î,kþyöì„þ ö„þw 
„þöìîûÐ [=!Šéöìëû !œ…öìœ 2 öíöì„þ 3 ˜Áºîû]

9. þ™yàþÄ †Ò=!œ öíöì„þ !˜îÅy‰þ˜ ›)œ„þ ²ÌÙÀ (MCQ) (a) (h) vþz_îû 
öîöìŠé !œ…öì“þ £öìîÐ 1 1×5 = 5

 

 a) ii) îöìvþüy!þ™!¢›y
b) iii) ¢“þ#Ÿîyî%îû ˜y!“þ

 c) ii) ˜„þ!vþü ˜y!þ™“þ
 d) iii) ”yDy î¤y•yîû vþzþ™e«› £öìëû!Šéœ
 e) i) þ™¤y‰þ öe«yŸ

 f) i) „þyœ#‡yÝþ
 g) i) ~„þ!eŸ!Ýþ

h) iii) !“þ˜‹yëû†yëû

10. 5

 1

 1



 3 1 

2 3

 ¢)eéôé²Ì¢DéôéîÄy…Äyéôé ~£z !“þ˜!Ýþ x‚öìŸ =!Šéöìëû öœ…y £öìœç þ™%öìîûy ç ˜Áºîû ö”çëûy 
ëyöìîÐ

 } ›,”%œ ”yŸ=öì®îû

 òòþ óóþ

‹Döìœ xy!îÜ,ñ“þ !˜£“þ– !˜ëÅy!“þ“þy ˜yîû#îû ²Ì!“þ ¢›yöì‹îû !˜Û%þîû ›y˜!¢„þ“þyîû 
!îîû&öìkþ ²Ì!“þîy” ‹y!˜öìëû ~£z vþz!_«Ð

!î!•îû !î‰þyîû ‰þyçëûyîû xíÅ òx”,ÜTîy”#ó £çëûyÐ ›y˜%¡ì xyd!îÙ»y¢– xydéôéŸ!_«îû 
x¦þyöìî {Ù»öìîûîû !î‰þyöìîûîû ²Ì“þÄyŸyëû “þy!„þöìëû íyöì„þÐ „þ!î ›öì̃  „þöìîû˜ !î!•îû !î‰þyîû 
‰þy£zîyîû xyöì† !˜‹ßþº !î‰þyîû Çþ›“þy îÄî£yîû „þîûy vþz!‰þ“þ ç ëíyŸ!_« ö¢£z Çþ›“þy 
²Ìöìëûy† „þîûy vþz!‰þ“þÐ

 îûî#w˜yí àþy„%þîû

îû*þ™˜y ééîûyöì̃ îû „)þöìœ

 îyhßþî ”%ƒ…– „þÜT– ësþf’yéôé‹#î˜ ësþf’yîû x!¦þKþ“þy ²Ì¢öìD „þ!îîû x˜%¦)þ!“þÐ

 ¢“þÄ „þ!àþ˜Ð ‹#î˜ ç ‹†“þöì„þ ò›•%›ëû þ™,!íî#îû •)!œó öíöì„þ ˜ëû– ö”…öì“þ 
£öìî òîû*þ™˜yîûyëûöì’îûó îyhßþî vþzþ™„)þœ öíöì„þÐ ”%ƒöì…îû ”%ƒ¢£ “þþ™¢Äyîû ›öì•Ä !”öìëû£z î%öìGþ 
!˜öì“þ £öìî ‹#îöì̃ îû ²Ì„þ,“þ ››ÅÐ ~Ýþy =!Šéöìëû !œ…öì“þ þ™yîûöìœ£z 2 öíöì„þ 3 ˜ÁºîûÐ 

11. „þ!î“þy öíöì„þ þ™‚!_« “%þöìœ ²ÌÙÀ ƒ 5 òò†yŠé xyöì̃ y ................... xy!
 a) „þ!î“þy òxy!› ö”!…ó– „þ!îéôéŸ!_« ‰þöìRyþ™y•Äyëû

b) „þ!î– ›y˜î‹y!“þîû vþzöìjöìŸÄ ~£z xyöìî”˜ ‹y!˜öìëûöìŠé˜Ð
c) ˜y†!îû„þ ‹#îöì̃  ”#‡Å„þyœ Ÿ£öìîûîû î¨#c ‹#îöì̃  öíöì„þ „þ!î £¤y!þ™öìëû vþzöìàþöìŠé˜Ð 

Ÿyîû#!îû„þ ç ›y˜!¢„þ ¢%ßþi“þyîû ‹˜Ä ¢î%öì‹îû ²Ìöìëûy‹˜#ëû“þy x˜%¦þî „þöìîûöìŠé˜ „þ!î– 
“þy£z– î,Çþ öîûyþ™öì’îû xyöìî”˜ “¤þyîû ¢›@ùÌ ›y˜îéôé¢›yöì‹îû „þyöìŠéÐ ~£z ¢î%öì‹îû ›öì•Ä£z 
xyöìŠé ›öì̃ îû Ÿy!hsþ– ²Ìyöì’îû xyîûy›Ð



òxy!› “þy þ™y!îû ˜yóÐ 
 vþz_îû ¢‚öì„þ“þ ƒ

a) ›,”%œ ”yŸ=®Ð e«¨˜îû“þy ‹˜˜#îû þ™yöìŸÐ (½ + ½ = 1) þ˜ÁºîûÐ
 b) „þ!î x˜Äyëû x!î‰þyîû– öŸy¡ì’– þ™#vþü̃ – …%˜ £z“þÄy!” ö”öì… !î•y“þy !î‰þyîû „þîûöìî˜ ~£z 

¦þyî˜yëû 
  ‰%þþ™ „þöìîû íy„þöì“þ þ™yöìîû˜ ˜yÐ 

c) ~„þ‹˜ ¢›y‹ ¢öì‰þ“þ˜– ¢“þÄy %̃¢õþy˜# !îöìî„þîy˜ ›y˜%¡ì „þ…˜£z !˜›Å› ¢“þÄ îœyîû 
¦þöìëû xy“þ!Bþ“þ £öìëû „þöìàþyîû îyhßþî öíöì„þ xî˜“þ›hßþ„þ £öì“þ þ™yöìîû̃  ˜yÐ 

12.  5

òòxyîû ‹#îöì̃  ö¦þyîû ö˜£z– ..........óÐ 2+3 = 5

a) î,kþ öþ™Ÿy”yîû# x!¦þöì̃ “þy îû‹˜#„þyhsþ–þ ²ÌÁ™Ýþyîû „þyœ#˜yíöì„þ ~£z „þíy=!œ îöìœöìŠé˜Ð
b) ›y˜%¡ì öëïîöì̃  ë…˜ ¢!e«ëû íyöì„þ “þ…˜ “þyîû ²Ì!“þ¦þyîû îý›%…# !î„þyŸ ‡öìÝþÐ !„þlsþ– 
²Ì„,þ!“þîû  !˜ëûöì›£z ›y˜%¡ì î,kþ £ëû– éôôôé x!¦þöì̃ “þyîû Ÿ!_« ¢y›íÅÄ „þöì› xyöì¢– ”ŸÅ„þöì”îû ¢y›öì̃ ç ö¢  

òòxy£y £y– „þyœ#˜yí ......... ö£  xy›yöì„þÐóó
a) x!¦þ˜ëû ‹#îöì̃ îû ²Ìyëû öŸ¡ì ²Ìyöìhsþ öþ™¤ïöìŠé ‹#îöì̃ îû £“þyŸy ç ~„þy„þ#c ¢Áºöìõþ 
îû‹˜#„þyhsþ ²ÌÁ™Ýþyîû „þyœ#˜yíöì„þ ~„þíy îöìœöìŠé˜Ð
b) ¦þo îÊyáþ’ î‚öìŸîû ¢hsþy˜ £öìëû ‹öì§Ã– !˜!Øþ“þ ‹#îöì̃ îû þ™%!œöìŸîû ‰þy„þ!îû öŠéöìvþü 

îû‹˜#„þyhsþ x!¦þ˜ëûöì„þ ¦þyöìœyöìîöì¢ x!¦þ˜öìëûîû ‹†öì“þ ~öì¢!Šéöìœ˜Ð ²Ìí› !”öì„þ 
…Äy!“þîû !Ÿ…öìîû öþ™¤ïöìŠé ö†öìœç– ‹#îöì̃ îû öŸ¡ì ²Ìyöìhsþ ~öì¢ !“þ!˜ x˜%¦þî „þîûöìŠé˜ 
~„þy„þ#c– !˜ƒ¢D“þy éôé ç “þyîû öíöì„þ ‹§Ã !˜öì‰Šé ‰þîû› £“þyŸyÐ 

13. þ™yàþÄ ˜yÝþ„þ öíöì„þ !˜îÅy‰þ˜›)œ„þ ²ÌÙÀ (MCQ) 1×5 = 5 

 (a) (h) 1

a) ii) èîûDöì‹î
 b) ii) îy›%̃
 c) i) ¢y‹y£y˜
 d) iii) çöìíöìœy



 e) i) ›y!Ýþöì“þ 
 f) iii) îûy›îÊ#‹ 

g) i) îy•Å„þÄ
 h) iii) öŸ:þ™#ëûîû
14. 1+3 = 4

òößþ™öì̃ îû !šþ!œþ™ .......... „¤þyöì”!˜Ðó
a) ößþ™öì̃ îû !îŸyœ îû’“þîû# xy›Åyvþyîû v%þöìî ëyçëûyîû „þyîûöì’Ð
b) ¢y•yîû’ ›y˜%¡ì ~îû x!hßþöìcîû ›)œÄ îîûyîîû£z £z!“þ£yöì¢ vþzöìþ™!Çþ“þÐ 

òî£zöìëû öœöì… îûy‹yîû ˜y› ........ 
  .......................................„þöìîû xy˜“þóÐ

a) £z!“þ£y¢ / ú!“þ£y!¢„þ „þy!£˜# !˜¦Åþîû @ùÌsþi¢½þyîûÐ 

b) îûy‹yîûy þ™yíîû ‡yöìvþü „þöìîû xyöì̃  ˜y — þ™!îû×öì›îû ”yëû¦þyîû î“Åþyëû xy¢öìœ þ™!îû×›# 
›y˜%öì¡ìîû ‡yöìvþüÐ xí‰þ £z!“þ£yöì¢îû þ™Çþþ™y“þ# ”,!ÜTöì“þ îûy‹yîûy£z …Äy!“þîû ‰)þvþüyëû x!•Ûþy˜ 
„þöìîûÐ ö×’# ÷î¡ìöì›Äîû ~„þ ~„þ ²Ì„þÝþ ç ”,!ÜT„þÝ%þ vþz”y£îû’Ð

15.  1+4 = 5 

 ò£zöì‰Šé „þîûöìœ£z !„þ ëyçëûy ëyëûóÚ 
 vþz_îû ¢‚öì„þ“þ ƒ 

 a) ›%hßþyšþyîû– ßþ%ñöìœ ëyçëûyîû „þíy ½ +½ +1=2

b) îûy‹!›!ßþf îyîyîû £àþyê ›,“%þÄ £öìœ þ™îû ›%hßþyšþyîû ßþ%ñœ öíöì„þ ˜y› „þyÝþy ö†öìœ ¢‚¢yöìîûîû 
”y!îûo ”)îû#„þîûöì’ þ™öì„þÝþ›yöìîûîû ”öìœ ˜y› öœ…yöì“þ £ëû– šþœ ö‹éœîy¢éôéöìë…y˜ öíöì„þ 
¢%hßþ ßþºy¦þy!î„þ ‹#îöì̃  !šþöìîû xy¢yîû þ™í=öìœy îõþ £öìëû ëyëûÐ  

  [=!Šéöìëû !œ…öìœ 3 öíöì„þ 4  ˜Áºîû]

òöœy„þÝþy ~„þ‹˜ þ™ëûœy ˜Áºöìîûîû ¦þuþóÐ
a) ¢îû„þy!îû vþz!„þœÐ
b) vþz!„þœ îÄ!_«!Ýþ îy£zöìîû !î²Õî#öì”îû „þy!£˜# öŸy˜yöìœç îy!vþü !†öìëû xy£zöì̃ îû þ™y“þy 

‡yÝþöì“þ˜ îy‚œy î#îûöì”îû š¤þy!¢ „þyöìàþ öGþyœyîyîû ‹˜ÄÐ



16. òxy›yîû îy‚œyó (MCQ) (a) (h) 

1 1×5 = 5 

 vþz_îû ƒ 

 a) iii) !Ÿ„þyîû „þöìîûÐ
 b) ii) î¨%„þ•yîû# ö¢þ™y£zÐ
 c) i) ö‰þ‚›y˜–

d) ii) îûy›”%œyœ îyî%Ð
 e) iii) ›!’£y!îû ‡yÝþÐ
 f) i) !£›yœëû þ™îÅ“þÐ
 g) iii) þþ™MþéyŸ–

h)    i) ö¢yöì›Ù»îû#Ð 


